Lengths of Lines
1. Calculate the length of each line in the diagram below.
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     2. In each of the following draw a graph and find the length of the line joining

         the points

            (a)  (2,2) and (8.7)                                (b)  (6,5) and (-2,-5)

            (c)  (0,-8) and (-6,2)                              (d)  (-5,-3) and (0,7)

            (e)  (6,7) and (-4,0)                               (f)   (2,1) and (7,-5)

            (g)  (3,5) and (-8,-8)                              (h)  (1,1) and (-5,-5)

            (i)  (7,0) and (-2,-3)                               (j)   (-2,-6) and (3,7)
